SFA NAME: [TYPE SFA NAME HERE] DEVINE 150

SY 25-26 Weighted Average Price Requirement Calculator

Step 1

The weighted average price is based on adjusting the SY 2024-25 price requirement by the 2% rate increase plus the Consumer Price Index (4.03%).

Unrounded Price Requirement for SY 2024-25	Weighted Average Price Requirement for SY 2025-26	
Found in Section 1, Block A of the PLE Report from SY 2024- 25 or in cell B31 of the Annual Unrounded Requirement Finder	Requirement to the nearest cent	
\$ 3.45	\$ 3.66	

If the Unrounded Price Requirement for SY 2024-25 is not known, the Unrounded Price Requirement from the most recent school year can be used.

Annual Unrounded Requirement Finder

Only used when the Unrounded Price Requirement for SY 2024-25 or the most recent school year is not known.

(Optional Step)

Weighted Average Price for SY 2010-11

Enter the weighted average price of all paid lunches charged in the SFA for SY 2010-11.

If the Weighted Average Price for SY 2010-2011 is not known, complete the SY 10-11 Price Calculator to obtain this value.

SY 10-11 Price Calculator

The Unrounded Price Requirement for SY 2024-2025 will be based on the price requirements for SY 2011-2012 to SY 2023-2024.

Previous School Years	Unrounded Price Requirement to the nearest cent
2011-2012	\$ -
2012-2013	\$ -
2013-2014	\$.
2014-2015	\$ -
2015-2016	\$ -
2016-2017	\$ -
2017-2018	\$ -
2018-2019	\$ -
2019-2020	\$ -
2020-2021	\$
2021-2022	\$ -
2022-2023	\$ -
2023-2024	\$
2024-2025	\$ -

Select the calculator based on the method chosen to meet the Weighted Average Price Requirement for SY 2025-26:

Method 1: SY 25-26 Price Raise Calculator

Method 2: SY 25-26 Non-Federal Calculator

Method 3: SY 25-26 Split Calculator

To review the instructions for the SY 25-26 Requirement Calculator:

Instructions

Attention: Users should only enter information in the cells highlighted in green. Modifications should not be made to the tool as changes can cause an incorrect new average price to be calculated which will impact future calculations.

May 2025

SFA NAME: [TYPE SFA NAME HERE] DEVINE 150

The prices are based on adjusting SY 2024-25 price requirement by the 2% rate increase plus the Consumer Price Index (6.03%).

SY:	2025-26 Weight	ted Ave	erage Price Requirement
Requir	rement to the	Requ	rement ROUNDED DOWN to
nea	erest cent	370.35	the nearest 5 cents
\$	3.66	\$	3.65

SY 2025-26 Price Raise Calculator

Step 1

If the SY 2024-25 Weighted Average Price is equal to or above the target price of \$4.01 then the SFA is compliant for SY 2025-26.

Ente	SY 2024-25 Weighted /			
	Number of Paid Lunches	Paid Lunch Prices	Monthly Revenue	Weighted Average Price for SY 2024-25
1	1,399	5 3.00	\$ 4,197.00	
2	1,683	\$ 3.00	\$ 5,049.00	
3	1,619	\$ 3.00	\$ 4,857.00	
4	1,539	\$ 3.00	\$ 4,617.00	MINIO GILL
5			\$ -	
6			\$ -	21 1 1 1 1 1 1 1
7			\$ -	
8			\$ -	
9	New Addition of the Party of th		\$ -	
10			\$ -	a tree
Total	6,240		\$ 18,720.00	\$ 3.00

Step 2

Shortfall or Credit

Enter any shortfall or credit carried forward from SY 2024-25

Overview of the Calculations

	Total Price Increase for SY 2025-26	
V.	(Based on the requirement rounded down to the nearest 5 cents)	
\$		0.65
1	Required Weighted Average Price for SY 2025-26	1/2
3	(Increase with the 10 cents cap)	-)
\$		3.10
1	Remaining Shortfall to Meet the Total Price Increase for SY 2025-26	-
0.77	(Based on establishing the price with the 10 cents cap)	-4
\$		0.55
	Credit From the Total Price Increase for SY 2025-26	
(Based on a greater price in SY 24-25 and/or credit from the previous yea	ar)

(Optional Step)

	Pricing Estin	nation Calculator	9 1 19	100 T
Below is a tool allow	ing users to manipulate prices to	achieve the required wei	hted average price f	or SY 2025-26.
	Number of Pald Lunches	Paid Lunch Prices	Monthly Revenue	Weighted Average Price for SY 2025-26
1		A TABLE TO SERVICE OF	\$ -	
2		P. Chief St. St. Land	\$ -	
3			\$ -	
4			\$ -	
5			\$	Paradia and ASS
6			\$.	
7			\$	
8			\$	d 100381
9			\$	
10			5	COLUMN TO SERVICE
Total	•		\$ -	\$ -

Step 3

SY 25-26 Report

To review the instructions for the SY 25-26 Price Raise Calculator

Attention: Users should only enter information in the cells highlighted in green. Modifications should not be made to the tool as changes can cause an incorrect new average price to be calculated which will impact future calculations.

SFA NAME: [TYPE SFA NAME HERE] DEVINE 15D

M. Non-Federal Revenue Sources:

Paid Lunch Equity Report for SY 2025-2026

This report provides a summary of the calculations made for SY 2025-26. It details the weighted average paid price requirement, the method SFAs chose to meet the requirement and any shortfall or credit that will need to carried forward to the next school year. This report will be helpful to have when completing next year's PLE tool so it is recommended that SFAs print and keep this report in their records.

A. Requirement to the nearest cent:	40.00	
This unrounded price will be entered into the SY 2026-27 tool to determine the weighted average price requirements	\$3.66	
B. Requirement ROUNDED DOWN to the nearest 5 cents:	\$3.65	
Section 2: Summary of Calculations		
Select the method used to meet the requirement for SY 2025-26		
Utilization of the SY 2025-26 PLE Exemption		
Weighted Average Price for SY 2025-2026:	3.45	
Does the SFA certify that they had a positive or zero balance in the nonprofit school food service account as of June 30, 2024?	YES	
Average Weighted Price Adjustments		
A. Shortfall Carried Forward to SY 2026-27:		
B. Credit Carried Forward to SY 2026-27:		
C. Weighted Average Price for SY 2025-26:		
Non-Federal Source Contributions		
D. Shortfall Carried Forward to SY 2026-27:		
E. Credit Carried Forward to SY 2026-27:		
F. Amount of Revenue from non-Federal Sources for SY 2025-26:		
G. Non-Federal Revenue Sources:		
H. General Fund Transfer:		
Split Calculations		
I. Shortfall Carried Forward to SY 2026-27:		
J. Credit Carried Forward to SY 2026-27:		
K. Weighted Average Price for SY 2025-26:		
L. Amount of Revenue from non-Federal Sources for SY 2025-26:		

Can and Frend Tunnafam	
General Fund Transfer:	

May 2025

NSLP Claim For Reimbursement Summary

00800 Status: Active **DEVINE ISD**DBA:
605 W HONDO

DEVINE, TX 78016-6080

County District Code: 163-901

ESC: 20 TDA Region; 4

Confirmation #: BRMLX8

Month/Year	Adjustment	Date	Date	Date	Reason
Claimed	Number	Received	Accepted	Processed	Code
Oct 2024	0	10/31/2024	10/31/2024		Original

Contracting Entity Totals

Meal Type	Meals/Supplements Served	Federal Rate	Reimbursement Federal Amount
National School Lunch Program			
Free	13,892	4.4500	61,819.40
Reduced	1,185	4.0500	4,799.25
Paid	6,240	0.4400	2,745.60
Total	21,317		69,364.25
Performance-Based Reimbursement (Lunch)			
Claimed	21,317	0.0900	1,918.53
Adjusted	0	0.0900	0.00
Total	21,317		1,918.53
School Breakfast Program Severe Need			
Free	8,758	2.8400	24,872.72
Reduced	665	2.5400	1,689.10
Paid	3,922	0.3900	1,529.58
Total	13,345		28,091.40

Claim Reimbursement Total 99,374.18

Contracting Entity Claim Reimbursement Totals

10(0)3	
Current Claim Reimbursement Total	99,374.18
Previous Claim Reimbursement Total	0.00
Net Claim Reimbursement Total	99,374.18

Hide Site Meal Details

Site Meal and Reimbursement Totals

DEVINE HIGH SCHOOL 0001				Total	Total
Meal Type	Free	Reduced	Paid	Meals	Reimbursement
National School Lunch Program	2,197	204	1,399	3,800	11,560.41
School Breakfast Program Severe Need	682	64	221	967	2,185.63
Total Site Reimbursement					13,746.04

DEVINE INT 0102

Meal Type	Free	Reduced	Paid	Total Meals	Total Reimbursement
National School Lunch Program	4,025	327	1,683	6,035	20,519.27
School Breakfast Program Severe Need	2,084	138	475	2,697	6,454.33
Total Site Reimbursement					26,973.60

DEVINE MIDDLE 0041

Meal Type	Free	Reduced	Paid	Total Meals	Total Reimbursement	
National School Lunch Program	3,250	389	1,619	5,258	17,223.53	

School Breakfast Program Severe Need 937 145 364 1,446 3,171.34 **Total Site Reimbursement** 20,394.87

JOHN J CIAVARRA EL 0101

Meal Type	Free	Reduced	Paid	Total Meals	Total Reimbursement
National School Lunch Program	4,420	265	1,539	6,224	21,979.57
School Breakfast Program Severe Need	5,055	318	2,862	8,235	16,280.10
Total Site Reimbursement					38,259.67

SFA NAME: DEVINE ISD

SY 24-25 Weighted Average Price Requirement Calculator

Step 1

The weighted average price is based on adjusting the SY 2023-24 price requirement by the 2% rate increase plus the Consumer Price Index (8.27%).

Unrounded Price Requirement for SY 2023-24	Weighted Average Price Requirement for SY 2024-25
Found in Section 1, Block A of the PLE Report from SY 2023- 24 or in cell B30 of the Annual Unrounded Requirement Finder	Requirement to the nearest cent
\$ 3.13	\$ 3.45

If the Unrounded Price Requirement for SY 2023-24 is not known, the Unrounded Price Requirement from the most recent school year can be used.

Annual Unrounded Requirement Finder

Only used when the Unrounded Price Requirement for SY 2023-24 or the most recent school year is not known.

(Optional Step)

Weighted Average Price for SY 2010-11

Enter the weighted average price of all paid lunches charged in the SFA for SY 2010-11.

If the Weighted Average Price for SY 2010-2011 is not known, complete the SY 10-11 Price Calculator to obtain this value.

SY 10-11 Price Calculator

The Unrounded Price Requirement for SY 2023-2024 will be based on the price requirements for SY 2011-2012 to SY 2022-2023.

Previous School Years	Unrounded Price Requirement to the nearest cent	
2011-2012	\$.	
2012-2013	\$.	
2013-2014	\$.	
2014-2015	\$.	
2015-2016	\$ -	
2016-2017	\$.	
2017-2018	\$ -	
2018-2019	\$.	
2019-2020	\$ -	
2020-2021	S -	
2021-2022	\$	
2022-2023	\$ -	
2023-2024	\$ -	

Select the calculator based on the method chosen to meet the Weighted Average Price Requirement for SY 2024-25:

Method 1: SY 24-25 Price Raise Calculator
Method 2: SY 24-25 Non-Federal Calculator

Method 3: SY 24-25 Split Calculator

To review the instructions for the SY 24-25 Requirement Calculator:

Instructions

Attention: Users should only enter information in the cells highlighted in green. Modifications should not be made to the tool as changes can cause an incorrect new average price to be calculated which will impact future calculations.

March 2024

SFA NAME: DEVINE ISD

The prices are based on adjusting SY 2023-24 price requirement by the 2% rate increase plus the Consumer Price Index (8.27%).

SY 2024-25 Weighted Average Price Requirement				
Rec	Requirement to the Requirement ROUNDED DOWN to			
	nearest cent	the nearest 5 cents		
\$	3.45	\$	3.40	

SY 2024-25 Price Raise Calculator

Step 1

If the SY 2023-24 Weighted Average Price is equal to or above the target price of \$3.85 then the SFA is compliant for SY 2024-25.

	Number of Paid Lunches	Paid Lur	nch Prices	Mon	thly Revenue	Average	phted Price for 23-24
1	1,211	5	2.90	\$	3,511.90		100
2	1,801	\$	2.90	\$	5,222.90	1991	
3	1,378	5	2.90	\$	3,996.20	181	
4	1,316	\$	2.90	\$	3,816.40		
5		The last		\$	-		
6		Salahan Maria		\$	-		
7				\$	-	10.00	
8				\$		1000	
9				\$		17 July	
10		1800		\$	-		
Total	5.706			5	16,547,40	1 \$	2,90

Step 2

Shortfall or Credit

Enter any shortfall or credit carried forward from SY 2023-24

\$ (0.20)

Overview of the Calculations

	Total Price Increase for SY 2024-25	12/11/05/05
\$		0.70
	Required Weighted Average Price for SY 2024-25 (Increase with the 10 cents cap)	
\$		3.00
13/16-3	Remaining Shortfall Carried Forward to SY 2025-26	
\$		0.60
4	Remaining Credit Carried Forward to SY 2025-26	ADMINISTRA V
\$		

(Optional Step)

Pricing Estimation Calculator

Below is a tool allowing users to manipulate prices to achieve the required weighted average price for SY 2024-25.

	Number of Paid Lunches	Paid Lunch Prices	Monthly Revenue	Weighted Average Price for SY 2024-25
1			\$	
2			\$	
3		W/N W.S. TO LA	\$	
4			\$	3349
5		A CONTRACTOR OF THE LAND OF TH	\$	
6			\$ 40	
7		THE WAY THE VALUE OF	\$	10 m
8			\$	
9		THE STATE OF THE S	\$	
10		The same of the same of	\$ commonweal	IIIV3 LEGISIO
Total			\$	\$ -

Step 3

SY 24-25 Report

To review the instructions for the SY 24-25 Price Raise Calculator:

Instructions

Attention: Users should only enter information in the cells highlighted in green. Modifications should not be made to the tool as changes can cause an incorrect new average price to be calculated which will impact future calculations.

March 2024

SFA NAME: DEVINE ISD

Paid Lunch Equity Report for SY 2024-2025

This report provides a summary of what calculations were conducted for SY 2024-25. It details the weighted average paid price requirement, the method SFAs chose to meet the requirement and any shortfall or credit that will need to carried forward to the next school year. When changes are made in the tool itself, the contents of this report will change accordingly. This report will be helpful to have when completing next year's PLE tool so it is recommended that SFAs print and keep this report in their records.

Section 1: SY 2024-25 Weighted Average Paid Price Requirements

\$3.45	A. Requirement to the nearest cent: This unrounded price will be entered into the SY 2025-26 tool to determine the SY 2025-26 weighted average price requirements
\$3.40	B. Requirement ROUNDED DOWN to the nearest 5 cents:

Section 2: Amounts Carried Forward to SY 2025-26

Select the method used to meet the requirement for SY 2024-25	
Utilization of the SY 2024-25 PLE Exemption	•
Weighted Average Price for SY 2024-2025:	3.45
Does the SFA certify that they had a positive or zero balance in the nonprofit school food service account as of June 30, 2023?	yes

Average Weighted Price Adjustments

A. Remaining Shortfall Carried Forward to SY 2025-26:	N/A
B. Remaining Credit Carried Forward to SY 2025-26:	N/A
C. Weighted Average Price for SY 2024-25:	

Non-Federal Source Contributions

D. Remaining Shortfall Carried Forward to SY 2025-26:	N/A
E. Remaining Credit Carried Forward to SY 2025-26:	N/A
F. Amount of Revenue from non-Federal Sources for SY 2024-25:	
G. Non-Federal Revenue Sources:	
H. General Fund Transfer:	

Split Calculations

I. Remaining Shortfall Carried Forward to SY 2025-26:	N/A
J. Remaining Credit Carried Forward to SY 2025-26:	N/A
K. Weighted Average Price for SY 2024-25:	
L. Amount of Revenue from non-Federal Sources for SY 2024-25:	